
EE 201 —  HW 5.6  Name__________________________________________

A switching current source is connected to a 0.5-H inductor.  The source current rises from   –4 mA to 
+6 mA in 1 ms, then decreases back to –4 mA in 0.5 ms.  The cycle repeats continuously. 
 
Make a good quantitive sketch of the inductor voltage as a function of time.  (A quantitative sketch 
includes numbers — for intercepts, peak values, asymptotes, and slopes.) 
 
How would the sketch change if the entire downward ramp lasted only 0.05 ms? 
 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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